I1Y-7 SUMPOBBIESNILTOIS In
— MR REA Y AT T IR E RS

F1TNEBREES (EPD) SR T RAXAME1-14-8
KANDA SQUARE GATE
BHES © JR-AP-24009E https://ecoleaf-label.jp
BHASH BEE 179 ME (L71) (BHEOH)
Shiseido Company, Limited | PSA ME (refill) (Container only)

=

HEH( BRES JR-AP-24009E
T T EAPCRES  PA-253000-AP-05
PCR% TIAFv BB RO
HEMNRERPE NS 20254 5F28H
O&#&H Bk RIALEHEA  2024%8A816H
OBRAREFEMRFEEE OFROERERR RIEA R B mBIREES =
QBRDREREIE @FEE- VT RIEES JV-AP-24009
TREEEEAR 2029488158
HAOB, TELK-F#Ex PCRLE1-DETE
B fbiprEss (LT vL) FAEBZE 20234 58 10H
AE= : 175mL ZER flF 8
BEsEE 1 0.03270kg —WHEEN D RT T T I RS RS
B=EIRE"

AEBIRFEE  HLE BF
ISO14025(2 5> 1= AT § R UT -5 DI LIzARAE
O ER W45
*Y2F LRIEZOLEEENORIEOBEL VAT LRTET-LEEED
ZETERH.
BEWAEnHEE

HKASHEEE T105-8310 FHREFEXEMEL-6-2 NAXREFS 03-3572-5111

Shiseido Company, Limited 1-6-2, Higashi-shimbashi, Minato-ku, Tokyo 105-8310, Japan

Z5H&ES © JR-AP-24009E



TIY-7 SUMPOBRIEIANINTOI S

— B EEATAT S TR S A
F1FINEEEE (EPD) FRITFREERE114-8
KANDA SQUARE GATE
EiFES ¢ JR-AP-24009E https://ecoleaf-label jp
DF1791 VIV R E Tl R
0% 20% 40% 60% 80% 100%
SURZH) IPCC 2013 GWP 100a 0.25 | kg-CO2eq
i3k 24 026 | g-SOzeq
BRHE 19| mg-Sbeq 1%
10} [ L B
nQEBALMRER B@REE-JFAIIL
AR 1HH Hify aFt @EE- BN
SUREH) kg-COzeq | 2.5E-01 1.3E-01 5.9E-02 1.3E-02 5.4E-02
AV ERE kg-CFC-11eq|  2.5E-08 1.0E-08 1.4E-08 1.8E-13 2.5E-10
Bt kg-SOz.eq | 2.6E-04 1.5E-04 6.0E-05 5.2E-05 5.3E-06
HHEATER kg-SOzeq | 1.7E-04 1.1E-04 4.5E-05 1.8E-05 2.6E-06
HAEEAFYI VS kg-C:Hseq | 6.3E-06 5.1E-06 1.1E-06 1.1E-07 3.2E-08
BEFYEFEDI A kg-CeHeeq | 1.7E-04 1.7E-04 2.4E-06 6.6E-08 7.3E-08
BE(LFYHE(IENE) kg-CeHeeq |  1.9E-06 1.7E-06 1.7E-07 4.3E-08 8.8E-09
KELRESM kg-CeHseq |  6.2E-04 5.1E-04 1.1E-04 2.1E-09 1.7E-06
[ BB kg-CsHseq |  5.0E-03 2.2E-03 2.7E-03 3.5E-08 4.2E-05
EREL kg-PO.*eq| 6.1E-06 6.1E-06 3.7E-09 1.4E-13 4.0E-09
3R A (HES) m*/E 9.5E-03 8.7E-03 2.8E-04 4.9E-04 3.4E-05
3R A () m?/E 6.1E-05 4.3E-05 7.9E-06 9.9€-06 7.3€-07
ARHE kg-Sbeq 1.9E-06 1.4E-06 3.9€-07 5.5E-08 1.6E-08
RS R AP-24009
1 By HHE-9E (ERERS) By
IFEEETREER 1.7€-03 kg PET(R ML) 92 %
FEEAERREIRIY - 1.0E-01 kg PP(F ¥y T) 8 %
FEFETREIRIY - 4.6E+00 MJ - 0 %
BAEAEER 4.1E-02 kg - 0 %
BETREIRIY- 5.1E-01 MJ - 0 %
KKOEE 8.9E-03 m? - 0 %
B, CO2MLRE RN, A5, FHE | 2.5E-01 kg - 0 %
iR, BUb, 447M)/kg, Bl SFBEAREIRF- | 5.7E-02 kg - 0 %
B, EREERAY, XS FEE|  4.1E-10 kg - 0 %
HH By
BEREEY 2.3E-03 kg
EEREY 2.7E-03 kg
—fiREEY EIY 2.3E-03 kg
EEEEY BIY 4.4E-04 kg

HIATHAVNICE I BERYBERLTVNET,

RE CAS No. ELE

DERALEZ=RT-IDEXH
IDEA ver.3.1.0&fEM LT,

®fFZE

OT-FHEDAHEIE. PCRESVEE - EERBESBL WS,
OLLEIIOWTR, B - EERBIRESNREEH LS CLARHONE A,
(B8BJEURL : https://ecoleaf-label jp/regulation/)
E5%EFS © JR-AP-24009E



